Acceleration Practice Problems

1.  A race car’s velocity increases from 4.0 m/s to 36 m/s over a 4.0-s time interval.  What is 

     its average acceleration?

2.  The race car in the previous problem slows from 36 m/s to 15 m/s over 3.0 s.  What is its 

     average acceleration?

3.  A car is coasting backwards downhill at a speed of 3.0 m/s when the driver gets the 

     engine started.  After 2.5 s, the car is moving uphill at 4.5 m/s.  If uphill is chosen as the 

     positive direction, what is the car’s average acceleration?

4.  A bus is moving at 25 m/s when the driver steps on the brakes and brings the bus to a 

     stop in 3.0 s.


a.  What is the average acceleration of the bus while braking?


b.  If the bus took twice as long to stop, how would the acceleration compare with 

     what you found in part a?

5.  A canoeist paddles upstream at 2 m/s and then turns around and floats downstream at 4 

     m/s.  The turnaround time is 8 s.


a.  What is the average velocity of the canoe?


b.  What is the average acceleration of the canoe? 

6.  Marco is looking for a used sports car.  He wants to buy the one with the greatest 

     acceleration.  Car A can go from 0 m/s to 17.9 m/s in 4.0 s; Car B can accelerate from 0 

     m/s to 22.4 m/s in 3.5 s; and Car C can go from o m/s to 26.8 m/s in 6.0 s.  Rank the three 

     cars from greatest acceleration to least.

7.  Robin has been jogging to the bus stop for 2.0 min at 3.5 m/s when she looks at her watch 

     and sees that she has plenty of time before the bus arrives.  Over the next 10.0 s, she 

     slows her pace to a leisurely 0.75 m/s.  What was her average acceleration during this 10.0 s?

8.  If the rate of continental drift were to abruptly slow from 1.0 cm/yr to 0.5 cm/yr over the 

     time interval of a year, what would be the average acceleration?

